BOUNDARY VALUE PROBLEMS FOR AN ITERATIVE DIFFERENTIAL EQUATION*

Pingping Zhang¹ and Wei Song^{2,†}

Abstract This paper discusses the solutions of an iterative differential equation under general boundary value conditions. Using an auxiliary integral equation without the help of Green's functions usually being constructed in higher order equations, we prove the existence and uniqueness of solutions by the fixed point theorems of Schauder and Banach, respectively. Our theorems generalize and revise the related results.

Keywords Existence, uniqueness, iterate, differential equation, fixed point theorems.

MSC(2010) 34B15, 34K10, 39B05.

1. Introduction

Let X be a Banach space equipped with a norm $\|\cdot\|$, the *n*-th iterate of a self-mapping $f : X \to X$ is defined by $f^n(x) = f(f^{n-1}(x))$ and $f^0(x) = x$ for all $x \in X$ inductively. Iterative differential equations, a class of differential equations with state-dependent delays, have attracted considerable attention in the later 20th century (smoothness [11], convexity [12], analyticity [13,20], monotonicity [14], equivariance [17], periodicity [22] and so on).

Most of known results on initial value problems for those equations were related to the following equation or its special cases

$$x'(t) = f(t, x(t), x^{2}(t), ..., x^{n}(t)).$$

Among them, the works [3-5,7,10,16] discussed on the initial value condition

$$x(t_0) = t_0,$$

called Return condition (the "fixed point" condition), and [1, 6, 18, 19] considered the non-Return condition

$$x(t_0) = x_0$$

[†]The corresponding author.

¹College of Science, Shandong University of Aeronautics, Binzhou 256600, Shandong, China

²College of Mathematics and Computer Science, Guangdong Ocean University, Zhanjiang, Guangdong 524088, China

^{*}The authors were supported the Natural Science Foundation of Shandong Province (ZR2021MA044), Scientific Research Fund of Shandong University of Aeronautics (BZXYLG2118) and Scientific Research Start-up Funds of Guangdong Ocean University (060302102005).

Email: ppz.2005@163.com(P. Zhang), dawenhxi@126.com (W. Song)

and proved the existence of nonlocal solutions. There are several results on higherorder iterative differential equations (periodicity [2,8], Hyers-Ulam-Rassias stability [15]). It is worth mentioning that Green's function is an important tool for establishing the equivalent integral equations and localizing the solutions for higher-order differential equations.

Using Green's function, in 2018 E. R. Kaufmann [9] investigated the second order equation involving 2-th iterates

$$x''(t) = f(t, x(t), x^2(t)), t \in [a, b]$$

associated with the boundary value conditions

$$x(a) = a, x(b) = b$$
 or $x(a) = b, x(b) = a.$

He gave the sufficient conditions for the existence and uniqueness of solutions by fixed point theorems. However, no results on the general boundary value condition

$$x(a), x(b) \in (a, b)$$

was given yet in [9]. In this paper we study the equation involving n-th iterates, together with the general boundary value condition, that is, the two-point boundary value problems

$$\begin{cases} x^{''}(t) = f(t, x(t), x^2(t), ..., x^n(t)), & t \in [a, b], \\ x(a) = x_1, & x(b) = x_2 \end{cases}$$
(1.1)

is discussed, where the different points $x_1, x_2 \in [a, b]$. Using an auxiliary integral equation without the help of Green's functions, we prove the existence and uniqueness of solutions by the fixed point theorems of Schauder and Banach, respectively. Our theorems generalize and revise the related results.

2. Lemmas

Let $C([a, b], \mathbb{R})$ be the Banach space of all C^0 mappings from a closed interval [a, b] into \mathbb{R} equipped with the norm $\|\cdot\|$, defined by

$$||x|| = \max_{t \in [a,b]} |x(t)|.$$

We have the following lemmas.

Lemma 2.1. ([21]) Suppose that $x, y: [a,b] \to [a,b]$ are two C^0 mappings and

$$|x(t_1) - x(t_2)| \le M|t_1 - t_2|$$

for M > 0. Then

$$\|x^j - y^j\| \le \sum_{i=0}^{j-1} M^i \|x - y\|, \ j = 1, 2, \dots$$

Lemma 2.2. The boundary value problem (1.1) is equivalent to the C^0 solution of the integral equation

$$\begin{aligned} x(t) &= \frac{bx_1 - ax_2}{b - a} + \frac{a}{b - a} \cdot \int_a^b (b - s) f(s, x(s), x^2(s), ..., x^n(s)) ds \\ &+ \frac{x_2 - x_1}{b - a} \cdot t - \frac{t}{b - a} \cdot \int_a^b (b - s) f(s, x(s), x^2(s), ..., x^n(s)) ds \\ &+ \int_a^t (t - s) f(s, x(s), x^2(s), ..., x^n(s)) ds. \end{aligned}$$
(2.1)

Proof. By integrating the equation (1.1) twice, together with $x(a) = x_1$ we have

$$x(t) = x_1 + x'(a)(t-a) + \int_a^t (t-s)f(s,x(s),x^2(s),...,x^n(s))ds.$$
(2.2)

Note that $x(b) = x_2$, from (2.2) we get

$$x'(a) = \frac{x_2 - x_1}{b - a} - \frac{1}{b - a} \cdot \int_a^b (b - s) f(s, x(s), x^2(s), ..., x^n(s)) ds.$$
(2.3)

It follows from (2.2) and (2.3) that

$$\begin{split} x(t) &= x_1 + \left[\frac{x_2 - x_1}{b - a} - \frac{1}{b - a} \cdot \int_a^b (b - s) f(s, x(s), x^2(s), ..., x^n(s)) ds \right] (t - a) \\ &+ \int_a^t (t - s) f(s, x(s), x^2(s), ..., x^n(s)) ds \\ &= \frac{bx_1 - ax_2}{b - a} + \frac{a}{b - a} \cdot \int_a^b (b - s) f(s, x(s), x^2(s), ..., x^n(s)) ds \\ &+ \frac{x_2 - x_1}{b - a} \cdot t - \frac{t}{b - a} \cdot \int_a^b (b - s) f(s, x(s), x^2(s), ..., x^n(s)) ds \\ &+ \int_a^t (t - s) f(s, x(s), x^2(s), ..., x^n(s)) ds. \end{split}$$

This proves (2.1).

Conversely, from (2.1) we get $x(a) = x_1$, $x(b) = x_2$ and the derivation

$$\begin{aligned} x^{'}(t) &= \frac{x_{2} - x_{1}}{b - a} - \frac{1}{b - a} \cdot \int_{a}^{b} (b - s) f(s, x(s), x^{2}(s), ..., x^{n}(s)) ds \\ &+ \int_{a}^{t} f(s, x(s), x^{2}(s), ..., x^{n}(s)) ds \\ &= \frac{x_{2} - x_{1}}{b - a} + \frac{1}{b - a} \cdot \int_{a}^{t} (s - a) f(s, x(s), x^{2}(s), ..., x^{n}(s)) ds \\ &- \frac{1}{b - a} \int_{t}^{b} (b - s) f(s, x(s), x^{2}(s), ..., x^{n}(s)) ds, \end{aligned}$$

then

$$x^{''}(t) = f(t, x(t), x^2(t), ..., x^n(t))$$

and the proof is completed.

3. Boundary value problems (1.1)

Theorem 3.1. Suppose that $f : [a,b]^{n+1} \to \mathbb{R}$ is a C^0 function and satisfies

$$|f(t, u_1, ..., u_n) - f(t, v_1, ..., v_n)| \le \sum_{i=1}^n L_i |u_i - v_i|$$

for some constants $L_i \geq 0$. If

$$L < \frac{|x_2 - x_1|}{(b - a)^2},\tag{3.1}$$

where

$$L := \|f\|_{[a,b]^{n+1}} = \max_{(u_0,u_1,...,u_n) \in [a,b]^{n+1}} |f(u_0,u_1,...,u_n)|,$$

then the boundary value problem (1.1) has at least a solution x(t) on [a, b].

Proof. Consider the set

$$\Theta := \{ x \in C([a, b], [a, b]) : x(a) = x_1, x(b) = x_2, \\ |x(t_1) - x(t_2)| \le M |t_1 - t_2|, t_1, t_2 \in [a, b] \},$$

where

$$M := \frac{|x_2 - x_1|}{b - a} + 2L \cdot (b - a).$$
(3.2)

Next, we apply the Schauder's fixed point theorem to prove the existence of a C^0 solution $x \in \Theta$ of (2.1).

Define the operator \mathcal{T} : $[a, b] \to \mathbb{R}$ by

$$(\mathcal{T}x)(t) := \frac{bx_1 - ax_2}{b - a} + \frac{a}{b - a} \cdot \int_a^b (b - s)f(s, x(s), x^2(s), ..., x^n(s))ds + \frac{x_2 - x_1}{b - a} \cdot t - \frac{t}{b - a} \cdot \int_a^b (b - s)f(s, x(s), x^2(s), ..., x^n(s))ds + \int_a^t (t - s)f(s, x(s), x^2(s), ..., x^n(s))ds.$$

We first show that $\mathcal{T}x \in \Theta$ for any $x \in \Theta$. In fact, one can easily check that

$$(\mathcal{T}x)(a) = x_1, \quad (\mathcal{T}x)(b) = x_2$$
 (3.3)

and

$$\begin{aligned} (\mathcal{T}x)^{'}(t) &= \frac{x_{2} - x_{1}}{b - a} + \frac{1}{b - a} \cdot \int_{a}^{t} (s - a) f(s, x(s), x^{2}(s), ..., x^{n}(s)) ds \\ &- \frac{1}{b - a} \int_{t}^{b} (b - s) f(s, x(s), x^{2}(s), ..., x^{n}(s)) ds. \end{aligned}$$

Since

$$(\mathcal{T}x)'(t) \ge \frac{x_2 - x_1}{b - a} - \frac{L}{b - a} \cdot \frac{(b - a)^2}{2} - \frac{L}{b - a} \cdot \frac{(b - a)^2}{2}$$

$$= \frac{x_2 - x_1}{b - a} - (b - a) \cdot L$$

> 0 (3.4)

for $x_2 > x_1$ and

$$(\mathcal{T}x)'(t) \le \frac{x_2 - x_1}{b - a} + \frac{L}{b - a} \cdot \frac{(b - a)^2}{2} + \frac{L}{b - a} \cdot \frac{(b - a)^2}{2} = \frac{x_2 - x_1}{b - a} + (b - a) \cdot L < 0$$
(3.5)

for $x_2 < x_1$, it follows from (3.3), (3.4) and (3.5) that

 $\mathcal{T}x: [a,b] \to [a,b].$

Moreover, for any $t_1, t_2 \in [a, b]$, by calculation we have

$$\begin{split} |(\mathcal{T}x)(t_1) - (\mathcal{T}x)(t_2)| \\ &= \left| \frac{x_2 - x_1}{b - a} \cdot (t_1 - t_2) - \frac{t_1 - t_2}{b - a} \cdot \int_a^b (b - s)f(s, x(s), x^2(s), ..., x^m(s))ds \right. \\ &+ \int_a^{t_1} (t_1 - s)f(s, x(s), x^2(s), ..., x^m(s))ds \\ &- \int_a^{t_2} (t_2 - s)f(s, x(s), x^2(s), ..., x^m(s))ds \right| \\ &\leq \frac{|x_2 - x_1|}{b - a} \cdot |t_1 - t_2| + \frac{L}{b - a} \cdot \frac{(b - a)^2}{2} \cdot |t_1 - t_2| \\ &+ \left| \int_{t_2}^{t_1} (t_1 - s)f(s, x(s), x^2(s), ..., x^m(s))ds \right| \\ &+ \left| \int_a^{t_2} (t_1 - t_2)f(s, x(s), x^2(s), ..., x^m(s))ds \right| \\ &\leq \frac{|x_2 - x_1|}{b - a} \cdot |t_1 - t_2| + L \cdot \frac{b - a}{2} \cdot |t_1 - t_2| + L \cdot \frac{(t_1 - t_2)^2}{2} + L \cdot |t_1 - t_2| \cdot |t_2 - a| \\ &\leq \frac{|x_2 - x_1|}{b - a} \cdot |t_1 - t_2| + L \cdot \frac{b - a}{2} \cdot |t_1 - t_2| + L \cdot \frac{b - a}{2} \cdot |t_1 - t_2| \\ &+ L \cdot (b - a) \cdot |t_1 - t_2| \\ &= \left(\frac{|x_2 - x_1|}{b - a} + 2L \cdot (b - a) \right) \cdot |t_1 - t_2| \\ &= M \cdot |t_1 - t_2|. \end{split}$$

Those relations imply that $\mathcal{T}x \in \Theta$, i.e., \mathcal{T} is a self-mapping. For any $x_1, x_2 \in \Theta$, using Lemma 2.1 we have

$$\begin{aligned} \|\mathcal{T}x_1 - \mathcal{T}x_2\| \\ &= \max_{t \in [a,b]} \left| \frac{a-t}{b-a} \cdot \int_a^b (b-s)(f(s,x_1(s),x_1^2(s),...,x_1^n(s) - f(s,x_2(s),x_2^2(s),...,x_2^n(s)) ds \right. \end{aligned}$$

$$+ \int_{a}^{t} (t-s)(f(s,x_{1}(s),x_{1}^{2}(s),...,x_{1}^{n}(s) - f(s,x_{2}(s),x_{2}^{2}(s),...,x_{2}^{n}(s))ds |$$

$$\leq \max_{t\in[a,b]} \left| \int_{a}^{b} (b-s)(f(s,x_{1}(s),x_{1}^{2}(s),...,x_{1}^{n}(s) - f(s,x_{2}(s),x_{2}^{2}(s),...,x_{2}^{n}(s))ds \right| + \max_{t\in[a,b]} \left| \int_{a}^{t} (t-s)(f(s,x_{1}(s),x_{1}^{2}(s),...,x_{1}^{n}(s) - f(s,x_{2}(s),x_{2}^{2}(s),...,x_{2}^{n}(s))ds \right| \\ \leq (b-a)^{2} \cdot \max_{t\in[a,b]} \left| f(t,x_{1}(t),x_{1}^{2}(t),...,x_{1}^{n}(t) - f(t,x_{2}(t),x_{2}^{2}(t),...,x_{2}^{n}(t)) \right| \\ \leq (b-a)^{2} \cdot \sum_{i=1}^{n} L_{i} \cdot (\sum_{j=0}^{i-1} M^{j}) \cdot \|x_{1} - x_{2}\|,$$
(3.6)

implying \mathcal{T} is continuous.

In view that

$$||x|| \le \max\{|a|, |b|\}$$
 and $|x(t_1) - x(t_2)| \le M|t_1 - t_2|,$

 Θ is uniformly bounded and equicontinuous and is relatively compact by the Arzelà-Ascoli theorem.

Therefore, Θ is a closed, convex and relatively compact subset of the Banach space $C([a, b], \mathbb{R})$ and \mathcal{T} is a continuous operator. By Schauder's fixed point theorem \mathcal{T} has a fixed point $x \in \Theta$, which is a solution $x \in \Theta$ of (1.1) and the proof is completed.

Remark 3.1. Let n = 2 and $x_1 = a$, $x_2 = b$ (resp. $x_1 = b$, $x_2 = a$), our Theorem 3.1 is reduced to Theorem 3.1 (resp. Theorem 3.2) of [9], in which (3.1) is reduced to the main condition (H1) in [9]. Thus, their results are improved in our Theorem 3.1.

Theorem 3.2. Suppose that all conditions of Theorem 3.1 hold. If

$$(b-a)^2 \cdot \sum_{i=1}^n L_i \cdot (\sum_{j=0}^{i-1} M^j) < 1,$$
(3.7)

where M is defined by (3.2). Then the boundary value problem (1.1) has a unique solution x(t) on [a,b].

Proof. It is known from (3.6) and (3.7) that \mathcal{T} is a contractive operator, and the remainder is same as that of Theorem 3.1. Then, the problem (1.1) has a unique solution $x \in \Theta$ from Banach fixed point theorem and the proof is completed.

Remark 3.2. From the assumption

$$|f(t, u_1, v_1) - f(t, u_2, v_2)| \le L_1 |u_1 - u_2| + L_2 |v_1 - v_2|,$$

we can get

$$\begin{aligned} &|f(s, x_1(s), x_1^{2}(s)) - f(s, x_2(s), x_2^{2}(s))| \\ &\leq L_1 |x_1(s) - x_2(s)| + L_2 |x_1^{2}(s) - x_2^{2}(s)| \\ &\leq L_1 |x_1(s) - x_2(s)| + L_2 (|x_1^{2}(s) - x_1 \circ x_2(s)| + |x_1 \circ x_2(s) - x_2^{2}(s)|) \\ &\leq L_1 |x_1 - x_2|| + L_2 |x_1^{2}(s) - x_1 \circ x_2(s)| + L_2 ||x_1 - x_2|| \end{aligned}$$

$$\leq L_1 \|x_1 - x_2\| + L_2 \|x_1^2 - x_1 \circ x_2\| + L_2 \|x_1 - x_2\|$$

$$\leq L_1 \|x_1 - x_2\| + L_1 L_2 \|x_1 - x_2\| + L_2 \|x_1 - x_2\|$$

$$= L_1 \|x_1 - x_2\| + (L_1 + 1) L_2 \|x_1 - x_2\|,$$

but not

$$|f(s, x_1(s), x_1^2(s)) - f(s, x_2(s), x_2^2(s))| \le L_1 |x_1(s) - x_2(s)| + L_2 |x_1^2(s) - x_2^2(s)| \le L_1 ||x_1 - x_2|| + L_2 ||x_1 - x_2||$$

appeared in [9, 15]. Hence, their condition

$$\frac{1}{6}(L_1 + L_2)(b - a)^2 < 1$$

should be replaced by (3.7) with n = 2.

4. Examples

We give examples to illustrate our main results.

Example 4.1. Consider the problem

$$\begin{cases} x^{''}(t) = k\cos(c_1 x(t) + c_2 x^2(t) + c_3 x^3(t)), \\ x(0) = x_1, \quad x(\pi) = x_2, \end{cases}$$
(4.1)

where $k, c_i \ (i = 1, 2, 3) \in \mathbb{R}$ and $x_1, x_2 \in [0, \pi]$.

For

$$f(t, x(t), x^{2}(t), x^{3}(t)) := k\cos(c_{1}x(t) + c_{2}x^{2}(t) + c_{3}x^{3}(t)),$$

note that $\|f\| \leq |k|$ and

$$\begin{aligned} &|f(t, x_1(t), x_2(t), x_3(t)) - f(t, y_1(t), y_2(t), y_3(t))| \\ &\leq |c_1k| \cdot |x_1(t) - y_1(t)| + |c_2k| \cdot |x_2(t) - y_2(t)| + |c_3k| \cdot |x_3(t) - y_3(t)|, \end{aligned}$$

we say from Theorem 3.1 that the problem (4.1) has at least a solution x(t) defined on $[0,\pi]$ if

$$k < \frac{|x_2 - x_1|}{\pi^2}.$$

Clearly, when

$$x_1 = 0, \ x_2 = \pi, \ c_1 = 0, \ c_2 = 1, \ c_3 = 0,$$
 (4.2)

then example 4.1 is reduced to Example 3.3 of [9], i.e.,

$$\begin{cases} x^{''}(t) = k\cos(x^2(t)), & t \in [0,\pi], \\ x(0) = 0, & x(\pi) = \pi. \end{cases}$$
(4.3)

Example 4.2. Consider the problem (4.1) again.

From the left side of (3.7) we have

$$(b-a)^2 \cdot \sum_{i=1}^3 L_i \cdot (\sum_{j=0}^{i-1} M^j)$$

= $(b-a)^2 \cdot (L_1 + L_2(1+M) + L_3(1+M+M^2))$
= $\pi^2 \cdot (|c_1k| + |c_2k|(1+M) + |c_3k|(1+M+M^2))$
= $\pi^2 \cdot |k| \cdot \sum_{i=1}^3 |c_i| (\sum_{j=0}^{i-1} M^j),$

where

$$M := \frac{|x_2 - x_1|}{b - a} + 2L \cdot (b - a) = \frac{|x_2 - x_1|}{\pi} + 2|k| \cdot \pi = \frac{|x_2 - x_1| + 2|k|\pi^2}{\pi}.$$

By using Theorem 3.2, we know that the problem (4.1) has a unique solution x(t) on $[0, \pi]$ if

$$\pi^2 \cdot |k| \cdot \sum_{i=1}^3 |c_i| (\sum_{j=0}^{i-1} M^j) < 1.$$
(4.4)

For instance, choose

$$k = -\frac{1}{10}, c_1 = -c_2 = c_3 = \frac{1}{3\pi^2}, x_1 = 0, x_2 = \pi,$$

note that

$$\begin{split} \pi^2 \cdot |k| \cdot \sum_{i=1}^3 |c_i| (\sum_{j=0}^{i-1} M^j) \\ &= \frac{1}{10} [1 + \pi \cdot \frac{2}{3\pi^2} (\pi + 2 \cdot \frac{1}{10} \cdot \pi^2) + \frac{1}{3\pi^2} (\pi + 2 \cdot \frac{1}{10} \cdot \pi^2)^2] \\ &= \frac{1}{10} [1 + \cdot \frac{2}{3} (1 + \frac{\pi}{5}) + \frac{1}{3} (1 + \frac{\pi}{5})^2] \\ &< \frac{1}{10} [1 + \cdot \frac{2}{3} \cdot 2 + \frac{1}{3} \cdot 4] \\ &= \frac{11}{30} \\ &< 1, \end{split}$$

so the problem

$$\begin{cases} x^{''}(t) = -\frac{1}{10} \cos \frac{1}{3\pi^2} (x(t) - x^2(t) + x^3(t)), \\ x(0) = 0, \quad x(\pi) = \pi \end{cases}$$

has a unique solution x(t) on $[0, \pi]$.

Next, we choose the data (4.2). Since

$$\pi^2 \cdot |k| \cdot \sum_{i=1}^3 |c_i| (\sum_{j=0}^{i-1} M^j) = 2|k| \pi^2 (1+|k|\pi) < 1$$

if

$$|k| < \frac{-\pi + \sqrt{\pi^2 + 2\pi}}{2\pi^2}.$$
(4.5)

Thus, the problem (4.3) has a unique solution x(t) on $[0, \pi]$, which is the Example 3.6 in [9] and our condition (4.5) replaces the main condition

$$|k| < \frac{6}{\pi^2}.$$

Applying our Theorem 3.1 and Theorem 3.2, the examples in [15] can also be easily settled.

Acknowledgements

The authors are grateful to the anonymous referees for their useful comments and suggestions.

References

- P. Andrzej, On some iterative differential equations I, Zeszyty Nauk. Uniw. Jagiello. Prace Mat., 1968, 12, 53–56.
- [2] A. Bouakkaz, A. Ardjouni, R. Khemis and A. Djoudi, Periodic solutions of a class of third order functional differential equations with iterative source terms, Bol. Soc. Mat. Mex., 2020, 26, 443–458.
- [3] G. M. Dunkel, On nested functional differential equations, SIAM J. Appl. Math., 1970, 18, 514–525.
- [4] E. Eder, The functional differential equation x'(t) = x(x(t)), J. Diff. Equa., 1984, 54, 390–400.
- [5] M. Fečkan, On a certain type of functional differential equations, Math. Slovaca., 1993, 43, 39–43.
- [6] W. Ge and Y. Mo, Existence of solutions to differential-iterative equation, J. B. Inst. Techno., 1997, 6(3), 192–200.
- [7] L. J. Grimm, Existence and continuous dependence for a class of nonlinear neutral-differential equations, Proc. Amer. Math. Soc., 1971, 29, 467–473.
- [8] A. Guerfi and A. Ardjouni, Periodic solutions for second order totally nonlinear iterative differential equations, J. Anal., 2022, 30, 353–367.
- [9] E. R. Kaufmann, Existence and uniqueness of solutions for a second-order iterative boundary-value problem, Electron. J. Differ. Eq., 2018, 2018(150), 1–
 6.
- [10] R. Oberg, On the local existence of solutions of certain functional-differential equations, Proc. Amer. Math. Soc., 1969, 20, 295–302.
- [11] J. Si and X. Wang, Smooth solutions of a nonhomogeneous iterative functional differential equation with variable coefficients, J. Math. Anal. Appl., 1998, 226, 377–392.

- [12] J. Si, X. Wang and S. Cheng, Nondecreasing and convex C²-solutions of an iterative functional-differential equation, Aequ. Math., 2000, 60, 38–56.
- [13] J. Si and W. Zhang, Analytic solutions of a class of iterative functional differential equations, J. Comp. Appl. Math., 2004, 162, 467–481.
- [14] S. Staněk, On global properties of solutions of functional differential equation x'(t) = x(x(t)) + x(t), Dynamic Systems Appl., 1995, 4, 263–278.
- [15] A. Turab and W. Sintunavarat, A unique solution of the iterative boundary value problem for a second-order differential equation approached by fixed point results, Alex. Eng. J., 2021, 60, 5797–5802.
- [16] K. Wang, On the equation x'(t) = f(x(x(t))), Funk. Ekva., 1990, 33(3), 405–425.
- [17] D. Yang and W. Zhang, Solutions of equivariance for iterative differential equations, Appl. Math. Lett., 2004, 17, 759–765.
- [18] Y. Zeng, P. Zhang, T. Lu and W. Zhang, Existence of solutions for a mixed type differential equation with state-dependence, J. Math. Anal. Appl., 2017, 453, 629–644.
- [19] P. Zhang and X. Gong, Existence of solutions for iterative differential equations, Electron. J. Differ. Eq., 2014, 2014(7), 1–10.
- [20] P. Zhang and L. Mi, Analytic solutions of a second order iterative functional differential equation, Appl. Math. Comp., 2009, 210, 277–283.
- [21] W. Zhang, Discussion on the differentiable solutions of the iterated equation $\sum_{i=1}^{n} \lambda_i f^i(x) = F(x)$, Nonlinear Anal., 1990, 15, 387–398.
- [22] H. Zhao and M. Fečkan, Periodic solutions for a class of differential equations with delays depending on state, Math. Commun., 2017, 22, 1–14.